Seat No. :

N25-102

December-2014
M.Com., Sem.-1

401 : Financial Economics

Time : 3 Hours] [Max. Marks : 70

A : (1) ea Ul 522Uld ©.
(2) ol YA Ayds Al
(3) ol usHidL oL wrHellelsy saldal .
(4) YA AR 268 AHHL Falol Ul

1. (A vl Hiueldl yoaed vaa (Idea) ([RRARMIRL) AL 7
DL
ARSI efalRot, s1daixl Aadl [Anydg A4l
(B) &54l ol Ul (A d o) 4

(1) -ueusld AleliHi _a-L Al stold 2
(2)  weusld oL el (A9l avil.
(3)  AuH 2 aad 3l Fd Asaudal 9 2
(C) s-6f ML ool quil 3
(1) Al el yeq delald Yot @il
(2) % T 100, 2 a¥ W2 10% Asqla Aol €3 AsUHL 20 dl dd 2 ad
ugl yeu sed, sal ?
(3) ANl (Volatility) >led 3 ?

2. (A) e [HalReil dradl uded(lHl Rigid damendl. 7
YAl
Y% Rl HIMILAL (Term Structure of interest rate) Rigidl Amendl.
(B) 254l el Ul : (A1 d o) 4

(1) % s34 AHAUAL vl (Parameter) AH%LAL.
(2 516 23] ofla T 5,400 a21ddl BHd elelz WMl 2id 5 o+ 1 ad
Ul ulsd Y 6,000 eld dl d- suiHHsd AlweR DLl
(3) AR5 A Lusly A e [l dvil.
(C) 1is-01 AEML oL 2L 3
(1) GuY (Yield) €2 led g ?
2) nwld 2y €2 2ed g ?
(3)  gu- ol @ed g ?

N25-102 1 P.T.O.



3. A

(B)

©)

4. (A

(B)

(©)

o121 Heuisul HUlEdlAL 9 100 © 2 sidam ool wReuAL @3l AL

91
yeuril [saell waal (el iy auil.

g5l oalel Ul (1 d o)

() 44l Masd yeauisd vidd G'led e wdHlol Hidd) 9 sauld ¢ 2
(2)  A¥ AMAL Y 9 ?

(3) Uizl (qalgl) 2ed 9 ?

Vig-ol ALLAHL BAloL LUl

(1) R{ReH2Ss AuvH (Flrs) 2ied g ?

(2)  suels vl Bud (WS uR yHe s k) aweiad Yo dvil.

(3) e 316 dey, (Written down value) Ugld »Hed 3 2

6d5-251d (Black-Scholes) M3 a2l
2241

dlied, yeuis 2l

gsHl alol Ul (M d o)

(1) RS2l @@Ll @vil.

(2) 537 A dAAAD ALl el

(3)  331dlla AlHAAgell vl

ig-0l ALSUML oL AU

(1) sl i vied 9 ?

(2)  stalEera-l 2 9 ¢ 2

(3) RS HA @il Yol vl

5.0 R w2l

(1) 2 T 100 L 2190 Heutl ol U T 12+ g4 AadR HOl 3 % oli=se, oloR

N25-102

el T 120 ¢ld dl d-tl gu- &2 9| ¢y ?

(a) 10% (b)y 12%
(c) 10.12% d) 12.10%
2

14



(2) 2l=udAU (Translation) WM sl AIdL U3 € ?
(a) [azall dRume-l Aleivti
() ol o s AHlRR 2t (RsAuiFléluq)
(©) 2Ms su-dl- ol
(d) GuU ouL %

W

(3) Al s HRIs@eL u 1 ad uggl T 100 1AL 5 BHL addR-L €2 5% 9. dild-,
AdHIA Hed bed ely 2

(4)  aMd aduini yed a1t ot dvil.
(5) [BR1RL eigloanl RMeid Yoo, i siHl Bud © 2
(@) -ueli-l (b) ¥l
(©) olud-il @)  HiRiswal
6) %t gu e Aol 9 @woy ud o 2
(@) w3l qaidl ster widl Bua
(b)  wsdl Hed, slallHs yeu
(c)  @1d) Udl AHY QYA
(d) Bu- olwL %
(7) Ut e e oRlald Yot il
(8) d@ioionou-l Alwe A LAul d e ?
(a) HOMd ALY &R (b)  BuH Wl
(c) Gu-l ol (d)  Gurumiadl 519 e
©) s BrddlRigid M2l Bud-dl dsd AR g2 53 ¢ 2R
(@) adlelglay el
(b)  GLARHL GLOL A1V YR1 HUBALR ¢ld .
(¢) GuR-lL ¢iqd
(d) " Gueimidl s Al
(10) AufAL sidam Gualal -l glzl el 2
(a) AlU3l (Book) He (b) o Y
(©) 2Aulid e-dxtiaz (d)  GUR-L 64l %

N25-102 3 P.T.O.



(11) Y4l Mesd yeuisd Hidd (Capital Asset Pricing Mode) (CAPM)iL vld 518l

(sl 2
(@ [las wd (b) A R
(c) WWls A (d) i @2

(12) &% (2L (hedge ratio) < ellg 1 g ¢ ?

(13) v 2qga- (Risk Neutral) Ugld 2A44IR sld QA dduld yeu 9 92
(@ C,=C/(1+71) (b) C,=C,/(1+1)
© C,=C,/(1-1) d C,=C/(+r)?

(14) 2gse viRledlR Hie laA-umizl 9 @y ud « ?

(@) a2l Al Branl % 32511 wd © d-l AuHBAddEE] vRleRd
8. 1ol .

(b) vlelR dHal Gl a0dr sHIA €.
(c) GBuL oA o
(d)  GuHidl 819 e

N25-102 4



Time : 3 Hours]

Instructions :

(b)

(c)

(b)

(©)

N25-102

Seat No. :

N25-102

December-2014
M.Com., Sem.-1

401 : Financial Economics

[Max. Marks : 70

(1)  All questions are compulsory.
(2) Read all instructions carefully.
(3) Marks for questions are given to the right side.
(4) Limit the answers as per instructions
Discuss the basic idea of risk measurement. 7
OR
Explain the scope or subject matter of Financial Economics.
Answer in brief : (any two) 4
(1) What is the role of place in Financial Transactions ?

(2)  Write about a composition of Financial Markets.

(3) How risk and reward are related ?

Answer in one-two lines only : 3

(1) Write an equation to calculate the future value of annuity.

(2) If% 100 is invested for 2 years at 10% compounding rate, what will be its
future value ?

(3) Whatis Volatility ?

Explain Liquidity Preference Theory (LPT) of interest rate determination. 7

OR

Explain term : Structure theory of interest rate.

Answer in brief : (any two) 4

(1) Explain time parameter of interest rate.

2

Calculate the risk free interest rate of a treasury bill issued with discount
price X 5,400 and maturity value ¥ 6,000 after 1 year.

(3) Write about real and nominal interest rate.

Answer in one-two lines only : 3
(1) Whatis Yield Rate ?

(2) What is administrated interest rate ?

3)

What is meant by coupon bond ?
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What is a role of information in market valuation ? Discuss the forms of efficient
market hypothesis.
OR

Write a note on Accounting Measure of Value.

(b) Answer in brief : (any two)
(1) What does capital assets pricing model (CAPM) indicate ?
(2) What is Lemon Problem ?
(3) Whatis Arbitraging ?
(c) Answer in one-two lines only :
(1) What is unsystematic risk ?
(2) Write an equation to calculate price per unit of risk.
(3) What is written down value method ?
4 (a) Explain Black-Scholes model.
OR
Discuss valuation of warrants.
(b) Answer in brief : (any two)
(1)  Write the characteristics of Rights.
(2)  Write the difference between futures and options.
(3) Write the characteristics of Derivative instrument.
(c) Answer in one-two lines only :
(1) Whatis call option ?
(2) What is meant by convertibles ?
(3) Write an equation to calculate value of right.
5. . Answer the following :
(1) What is coupon rate if ¥ 12 coupon interest is earned on I 100 face value bond
whose market price is I 120 ?
(a 10% (b)) 12%
(©) 10.12% (d) 12.10%
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Translation risk is applicable to

(a) Foreign currency transactions
(b) All government securities

(c) Debentures of local companies
(d) All of the above

If ¥ 100 will be paid on an investment after 1 year and expected rate of return is

5% then what is its present value ?
Write an equation to calculate present value of an annuity.

According to Loanable fund theory, interest is a price of
(a) Money (b) Capital
(c) Savings (d) Capital Investment

Out of the followings, what should be considered in zero.coupon rate ?
(a) Initial discounted issue price

(b) Face value at maturity

(c) Relevant time dimensions in years

(d) All of above
Write an equation to calculate implicit interest rate.

Long term interest raté considers
(a) Basic interest rate

(b) Risk premium

(c) both of the above

(d) none of the above

The law of one price eliminates the chances of mispricing where
(a)  Arbitrageurs don’t exist

(b) Market participants are well informed

(¢)  Both of the above

(d) None of the above

The efficient use of assets is reflected by
(a) Book value (b) Market value
(c) Asset turnover (d) All of the above
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(11) Who developed the Capital Assets Pricing Model (CAPM) ?
(a) William Sharpe (b) Adam Smith
(c) Stephen Ross (d) John Stuart

(12) What is another name of hedge ratio ?

(13) According to Risk Neutral method current value of call option is
(@ C,=C/(1+1) (b) C,=C,/(1+1)
© C,=C,/(1-1 (d C,=C/(1+r)?

(14) What is applicable to straddle buyer ?

(a) Buyer is protected against the uncertain movement of share price in the

future
(b) Buyer always earns high return
(c) Both of the above
(d) None of the above
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